
1) 6104 + (-3695)

Answer: ____________

2) 7818 + (-1838)

Answer: ____________

3) 4970 + (-7807)

Answer: ____________

4) 5414 + (-5074)

Answer: ____________

5) (-3401) + (-8138)

Answer: ____________

6) (-4448) + (-7018)

Answer: ____________

7) 1917 + (-5272)

Answer: ____________

8) 4775 + (-7821)

Answer: ____________

9) 8195 + (-9274)

Answer: ____________

10) (-9015) + 6357

Answer: ____________

Total: ___ / 10
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Answers:

1) 2409 2) 5980 3) -2837 4) 340 5) -11539 6) -11466 7) -3355

8) -3046 9) -1079 10) -2658
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